Maths Week 2022
Solve a Problem - Thursday 20" Oct

Submit answers using this link.

Junior
What number G
is the arrow |||||||||||
pointing to? 10 11 12
Challenging
February 2014 has 28 days. Which of the following calculations is true?
A 2x0x14=28 B2+0x14=28 C(2+0)x14=28
D2+0+14=28 E2Zx0+14=28
All
Hannah places a mirror after the word SWIMS like this:
SWIMS |

What would the reflection look like in the mirror?
A 2WIMe B 2Miwe C SMIWS D Z2MInNe E SwWiMe


https://docs.google.com/forms/d/e/1FAIpQLScy1nOXV9dBPBMuibGtZwqVzI_GF-Y-_d63m2xBPX89mu9UaA/viewform

